TotalMarks:.... Class:9th Time:....

Test:Math
Attempt ......... questions
1 Find determinant.
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* Define symmetric matrix. <l Sy /.jd/ e
> What is Row matrix? SIS
® Whether given matrix is singular or not? b /,-f Le 2 _.(f‘t. 3
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If B{_J then find B+{3} 3 | Lo -1
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Attempt ......... questions
1 Solve by using matrices: - /i JV"—'-“'JU’J J

The third angle of an isosceles friangles is 16° é—d:’ﬂ 9y ( L,.«J Ui 2 K_«L«‘u" u'dﬁb’"—f’
less than the sum of the twe equal angles. Find ﬂ,,a»JJ,J, UU. V’LU,L‘__L 16”;;,‘;

three angles of the triangles. " /f Jor
2 1 2 3 I <1 1 1 2 3 i & 4
A=|2 3 1| B=2 2 2 A=|2 3 1| B=2 2 2
1 -1 0 3 13 1 -1 0 31 3 r.
Prove that 2A+2B=2(A+B) 2A+2B=2(A+B) -/ =t
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